


Pos Part No. Description Quantity Price each
Excl VAT

Price
incl
VAT

Currency

1 491746 Armature 110 - 120V 1 $117.29 USD

2 491745 Field assembly 110 - 120V 1 $59.10 USD

3 491703 Switch 230 V 1 $16.61 USD

5 491725 Socket housing 120V 1 $13.36 USD

6 400710 Screw 4,0 x 15 mm 5 $0.91 USD

7 499323 Cover 1 $41.04 USD

8 466084 Spring 1 $0.91 USD

9 459186 Flat head screw M8 x 18 1 $0.95 USD

10 10014832 Counter flange 1 $3.61 USD

11 10014834 Clamping flange 1 $11.34 USD

12 10000418 Wedge 1 $6.13 USD

13 10016393 Raised-head screw 2 $0.91 USD

14 10000164 Board segment 1 $5.04 USD

15 10017862 Protective cover 1 $63.79 USD

16 202096 Angle piece CLEANTEC 1 $14.91 USD

17 400014 Flat head screw 4,0 x 10 mm 5 $0.91 USD

18 10019516 Depth stop 1 $15.17 USD

19 10002634 Bolt 1 $1.36 USD

20 459181 Flange bushing 2 $0.95 USD

21 499283 Gear housing 1 $77.65 USD

22 410223 Needle sleeve 1 $2.85 USD

23 228798 Ball bearing 1 $3.86 USD

24 459225 Pressure spring 1 $0.91 USD

25 459224 Detent lever 1 $0.95 USD

26 459229 Lever 1 $2.04 USD

27 499012 Flag window, vision panel 1 $4.26 USD

28 481984 Rotary knob 1 $1.55 USD

29 --- See catalogue 1

30 462760 Nut 1 $1.91 USD

31 228567 Raised-head screw 4,0 x 20 mm 1 $0.91 USD

32 10000568 Draw spring 1 $0.91 USD

33 453547 Flange bolt 2 $0.91 USD

34 459226 Soft handle 1 $5.29 USD

35 400695 Raised-head screw 4,0 x 25 mm 8 $0.91 USD

36 459185 Bearing flange 1 $12.32 USD

37 459253 O-ring 1 $0.91 USD

38 219031 Raised-head screw 3,5 x 10 mm 2 $0.91 USD

39 491702 Electronic 120V 1 $62.11 USD

40 491727 Set of flexible leads 110V  USA 1 $13.11 USD

41 459222 Lock bolt 1 $1.27 USD

42 401244 Snap ring 1 $0.91 USD

43 401576 Ball bearing 1 $6.10 USD

44 495798 Gear shaft 1 $31.59 USD

45 10018287 Tenons 1 $2.07 USD

46 459187 Pressure spring 1 $1.55 USD

47 10007029 Grip 1 $12.60 USD

48 459199 Fan 1 $2.30 USD

49 488965 Solenoid ring 1 $2.17 USD

3 of 4 11/30/2020, 11:34 AM



50 401525 Ball bearing 1 $3.66 USD

51 228708 Raised-head screw 4,0 x 60 mm 2 $0.91 USD

52 459179 Air guide washer 1 $1.81 USD

53 459255 Hexagon wrench 1 $1.42 USD

54 10017629 Motor housing 1 $18.66 USD

55 721509 PTC resistor 1

56 10002348 Screw 4 $0.91 USD

57 492014 Brush (Pair) 100-120V 1 $14.21 USD

58 xxx No longer available 2

59 491723 Speed indicator EB / EBQ 1 $17.91 USD

60 491718 Cover 1 $11.92 USD

61 500430 Spindle stop 1 $29.16 USD

62 500431 Lever 1 $16.06 USD

63 459195 Pusher 1 $2.04 USD

64 459220 Silicone washer 1 $0.91 USD

65 10001354 Rotary knob 2 $1.56 USD

66 402935 Washer 2 $0.91 USD

67 10009124 Swiveling segment 1 $10.70 USD

68 10000160 Clamping screw 2 $0.95 USD

69 10000916 Strip 2 $1.43 USD

70 10027116 Swiveling segment 1 $6.43 USD

71 10014865 Cheese head screw 4 $0.91 USD

72 200173 Glide pads 1 $14.38 USD

73 200174 Adjusting Knob 1 $16.21 USD

74 500912 Guide plate 1 $63.54 USD

75 10015946 Spring 1 $0.91 USD

76 10016897 Lever 1 $0.91 USD

77 10013063 Threaded pin 1 $0.91 USD

4 of 4 11/30/2020, 11:34 AM




